
H
05

51
_R

ev
01

Quick battery connection/release  ( for Goblin 380 - battery 6S 1500-2600 mAh )

NOTE:
   

BELT

Finishing 
Washer M2.5
(H0255-S)

Alu Landing
Gear Support
(H0555-S)

Tail Belt Ilder 
Assembly

Head Cap Screws
Special M2.5x6mm
(HC019-S)

Carbon Fiber Landing Gear
(H0557-S)

Tail Belt Tensioner 
Arm Assembly

Spring
(H0579-S)

Tail Belt Ilder 
Assembly

Head Cap Screw
M2.5x10mm
(HC022-S)

[H0580-S]

[HC000-S]

Hex Nylon Nut M3
(HC206-S)

Hex Nylon 
Nut M2.5
(HC200-S)

Install the stickers as shown:

In the KIT:

Tighten the belt, through the movement of the tail group, until the attainment.

Tail Belt Ilder Assembly

Tail Belt 
Tensioner Arm
(H0575-S)

 Flanged Bearing
3x 3x3mm

(HC402-S)

Tail Belt Tensioner Arm Assembly

Tail Belt Ilder
(H0575-S)

 Flanged Bearing
2.5x 6x2.5mm

(HC400-S)

Plastic Landing
Gear Support
(H0556-S)

Column Tail Belt 
Tensioner
(H0577-S)

Head Cap Screw 
M2.5x10mm
(HC022-S)

Code Name Quantity
H0255  Finishing Washer M2.5 2
H0555  Alu Landing Gear Support 1
H0556  Plastic Landing Gear Support 1
H0557  Carbon Fiber Landing Gear 2
HC019  Button Cap Special M2.5x6mm 4
HC022  Head Cap Screws M2.5x10mm 6

Code Name Quantity
HC031  Socket Head Cap Screw M2.5x15mm 2
HC032  Socket Head Cap Screw M2.5x18mm 2
HC125  Flat Head Cap Screw M2.5x8mm 6
HC200  Metrix Hex Nylon Nut M2.5 4
HA035  Double Side Tape 1mm 3
HA036  Battery Strap 3
HA113  400mm Charger Cable 1

Page 1

Carbon Fiber Landing Gear Set 
[H0555-S]


	Sheet1
	Drawing View12
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View21
	Drawing View22
	Drawing View25
	Drawing View30
	Drawing View34
	Drawing View35


